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ANSWER KEY —
CLASS 4 - CBT JANUARY TEST

READING
Read the given lines and tick the correct answer:
"Come in, come in!"
said the library door;
| opened it wide,
and saw books galore.
Q 1. What did the child open ?
Ans : the Libraray Door
Q 2. What did the poet see after opening the Library
door?"
Ans : c) books galore
Q 3. The earliest books were written by hand on and two
thousand years ago in India.
Ans: c) birch bark, palm leaves
Q 4. Why did grandfather give the children money?
Ans: To buy books

GRAMMAR
Q 5. Fill in the blank with the correct word.
We a lot of homework today.
Ans: have
Q 6. A donkey's young one is called a
Ans: Foal

SPELLING:
Q 7. Choose the correct option:
a) quiet + ly = quietly
Q 8. Add "- ful" to make an adjective of the given word:
Beauty
Ans: Beautiful

VOCABULARY

Q 9. Write the synonym (same meaning):

to goup
Ans: a) Climb
Q 10. Arrange the following words as per order in the dictionary.
1) shelves
2) skinny
3) wonderful
4) wide
Ans:b)1,2,4, 3
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MATHS

1. Find divisorfor96 / ___ =12
Ans: 8

2. If one ball cost Rs.15. What is the cost of 12 balls?
Ans: 15x12

3. Raja bought 50 chocolates for Rs. 250 . What is the cost of one chocolate?

Ans: 250/50

4. Find the quotient for 76 / 76?
Ans: 1

5. There are 150 trees in 10 rows the garden. There will be

Ans: 15

6. Multiplication is repeated

Ans: Addition

7. Tick remainder for 384 /4
Ans: 0

8.. Choose the correct formula .

Ans: Dividend = divisor x quotient + remainder

9. How many 10 rupee pen can | buy with 50 rupees?
Ans: 5

10. Tick the Quotient for 4800 / 100 is
Ans: 48

trees in one row?
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EVS
OBSERVATION
How are the roots of the grass?
(a) Strong and deep b) Weak and deep c) Weak and short
d) Short and strong
Ans (d) short and strong

. Observe this picture and choose the correct option.

(a) Patand muéa b) Mezi c) Bora d) Mid-day meal
Ans (b) Mezi

. Observe this picture and choose the correct option.

))@1.\
- e
a) Gurunanak Dev b) Lord Rama c) Lord Krishna
(a) d) Lord Jesus
Ans (a ) Gurunanak dev

Identification and Classification

4. Whatis radish?

Stem b) Root c) Fruit d) Leaf
Ans (b) root

5. Bihuis the harvest festival of —

L | a) Manipur b) Assam c) Punjab d) West Bengal
Ans (b) Assam

6. Which is not correctly matched?

Column A Column B

(a) Uruka New rice crop

(b) Bora Sticky rice

(c) Tao A big vessel

(d) Bhat- shukto Rice with vegetable and gravy

Ans (a) uruka — new rice crop
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7. Golden temple is a famous-

Ans (d) Gurudwara

Discovery of facts
8. From where do the leaves of the plants get water?
(a) Soil b) Clouds c) Air d) Sun
Ans (a) soil

9. Bhela Ghar is made of-

a) Mud and bricks b) Cement and bricks
(a) c) Paper and sticks d) Bamboo and grass
Ans (d) bamboo and grass

10. Kadah prasad is prepared ina —

(a) Tandoor b) Patila c) Big Kadhai d) Cooker
Ans (c) Big kadhai
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